a(0 @) (raqd)

Ratio

Ratio

Ratio

=
<

IR (9% - )
I =
| | o . o
1 : 1 : 2
IO T O K o
- T it
: b : :
; ; h
:‘ t
107 (| 14481 o
[. L LT
wo DLIEGE A LU TGRSR LI TEELI UL (LI LI RERIE o ey I M (| ol o 1L A AR AL AR A
I : ol10°F N H
Lap p = LAEr Il |E
1.2F-- L3 < < A A ErH e C 2Bl ff i
iR 3 A 4 T ‘
osk i 1 i ] : 0.8E1- -tk - LEEE - B == 4hebk b A3 bEp i
R ) 1T 2 3 -3 -2 -1 0 T 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

—=— DQM_mkFit_baseline_lowPT

—— DQM_mkFit_baseline6iter_lowPT

SICEWATL

—
1]
[3)
2
=~
XN
o]
o
: : =2
1 : ©
1 !
107 LV ST TR R EEE T
[: reubid N LA TEL
L] T - A |1 A
[ § (1{#[[{1BLITE
- 1 bl H{ITH . BTG AL |
| . (4] LR M
L. : {1 '
Lo JEEHA L LS
AR AR ARAARARA R AR AR AR b LEHLLLELELTE o

1072 -
1.5

H -H4- tEHT - - -F - - r 9 1 H 1 i
e | . 5 1 r ! 4 5 y !
-1 3 1rE s F 1 A H 4 H

. . . h—e---- - . o P bal- - A4 T LR - - -
-2 T JH- el 4 2. I O ¢ N ! 5 q

-2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

Ratio

12

$
'y
>

%

iy

0.8

|
W[

=

o p/p.)

ot A LA R T T AR R 22
1077t R R R EEE e 11
E oo HESTEHAS SE FFE (e 2k 111
e (R (117 N
| ] AR | |
15F : A
1:__ e R 4 |

0 T2 3
TP n (PCA to beamline)

|
w



	Contents
	Page 1


